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O 4830 XM 8 4,800
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= 18,573
o 43,335
- NSE0otsHE =208 HLM2S
1,179,200 x10E* 102 117,920
= 58,960
= 17,688
o 41,272
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11 SIS0t HAS A 542,000 542,000
O ADIESE AEAEY
1,940,000, 000& *15% 291,000
O &g Hetg 82018 SdAE
211,000,000 *14] 211,000
O &g s JIHXES SN2 AL
80,000, 000& *50% 40,000
sS40l 2843 K@ (EX) 81,249 81,249 0
= 50,374
Ea 30,875
308 AXIHS0IA 81,249 81,249 0




A ZHAH Dt
T ZAI|Y NI
cel: ZAJ|Y AHoA s XY (SHol: )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
= 50,374
= 30,875
11 312 S0eHE &R S A 81,249 81,249 0
O g2l SAAMY
100,000, 0002 *17H 2 +80% 80,000
& 50,000
i 30,000
O MR S0 BEWSH| XE A
1,249,000 14 1,249
= 374
i 875
AMAEI 24 KR 679,060 772,360 93,300
= 199,000
i 480,060
Sr=s3HA 22 183,420 113,420 70,000
201 2| 32,700 32,700 0
01 AR2teld| 5,500 5,500 0
O Sd=s3HX =83 Fa
2,750,000 23| 5,500
02 32| 27,200 27,200 0
O Sd=s3HX I3
200,000& 123 2,400
O 2Xs3HA AL /X & SFEHI
20,000,000 14! 20,000
O SE=sIHK LHAS
800,000 *63| 4,800
301 LBENF 720 720
11 HALAHIXIE S 720 720
O 2X=s3CA L=SHME2s 2tesl &
N By 8,000 *45 +23| 720
401 AlEHIZ20HY| 150,000 80,000 70,000
01 Al&Hl 150,000 80,000 70,000
SHS3HA W =5 &2 Wil SA
150,000,000 * 14 150,000
AZESHA ®Al2e] 296,640 288,940 7,700
201 B2 AY| 114,240 114,940 AT00
01 ArR2eltl 24,640 24,640 0
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O #0Pte ENRA £33
20,000,000 *14! 20,000
301 22N = 14,152 14,152
11 AALEIXIES 14,152 14,152
O ENRA UL
8,000 x3p6EH *42] 1,152




FA BHS

M JIGEXNFX 435t
ol JIBENRIAE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O HODts SXNRX £28 &4 24
13,000,000& » 14 13,000
TN 54 X 317,720 93,720 224,000
=PI PNRE-DNLE! 720 720 0
SSYPMHEI 8RS 720 720 0
301 2eEN= 720 720 0
11 dALEEIXIRE S 720 720 0
O SSHYST YPET FoIALE A
2y 8,000 %302 +33] 720
AAEX] 23t XA 317,000 93,000 224,000
AHAEX] Edat X3 317,000 93,000 224,000
307 el2to| & 93,000 93,000 0
02 2B YAIHE A 93,000 93,000 0
O SHETEHMSEX] JI=AH ML XA
(2€23) 93,000,000 * 14! 93,000
308 AXIHMSO0IA 224,000 0 224,000
11 2| 2SO CHEI AR S AL | 224,000 0 224,000
O NASs 85 wEE ol A
800,000,000 141 %28% 224,000
G ADHE X 1,301,600 1,600 1,300,000
= 500,000
= 150,000
Ea 447,600
ES 204,000
JIFEAl g X2 1,301,600 1,600 1,300,000
= 500,000
s 150,000
s 447,600
e 204,000
JIFEAl e X 1,600 1,600 0
201 Zet=Ehl 1,600 1,600
01 AlR22IH| 1,600 1,600
O JIYZAI(PHIT) 2TAMAIE 222
400,000 42| 1,600
KNANE ADEAIEl ZEAHH 1,000,000 0 1,000,000
= 500,000
= 150,000
o 350,000
403 AXIEHHSAH=01d 1,000,000 0 1,000,000
= 500,000
= 150,000
[Ea 350,000
02 SISOt =2 A P E A I 1,000,000 0 1,000,000




2A:

X XH -
o=

=S| Faigeain;
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Chelr DS Al HE KA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O XI9HE ADIEAE ZLA
1,000,000, 0002 *14! 1,000,000
2 500,000
[ 150,000
2 350,000
AHIOIM H Z4(S2HAIE ADEZRIX)(ASHSIIZ 300,000 0 300,000
)
= 9,000
ES 204,000
401 AlZHILSTHE] 300,000 0 300,000
z 9,000
S 204,000
01 Al 300,000 0 300,000
O AHOI& H =4 300,000,000 %14} 300,000
= 9,000
2 204,000
SIS SHI(SHALDL) 64,792 83,433 18,641
=B (ZH A D) 64,792 83,433 A 18,641
=B (B 26,800 24,200 2,600
201 LBt 22,000 20,000 2,000
01 At 22|t 22,000 20,000 2,000
O RN2SHBI(ZH) 22,000,000 22,000
208 PPE=TY| 4,800 4,200 600
04 BASYALEAY| 4,800 4,200 600
O BN2gdFmy(ZarY)
400,008 * 122 4,800
J|=BHI(NSZHE) 9,504 13,824 14,320
201 LBt 4,224 5,184 960
01 AtfR22l8| 4,224 5,184 960
O NAZHE L2F2 S|
4,224,0002 4,224
202 04| 5,280 8,640 /3,360
01 2ot 5,280 8,640 A3,360
O J1= 240l 5,280,000 5,280
J|=A(L NI B EE) 5,184 5,789 805
201 Lereot| 3,744 3,629 115
01 AtR2telt| 3,744 3,629 15
O UXeIFEE APFH S|
3,744,000 3,744
202 O] 1,440 2,160 AT
01 2UHodl 1,440 2,160 AT20
O J1= 2ol 1,440,0002! 1,440
J|=AHI(A4BIE) 5,880 7,488 1,608
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. HY2IZU|I(GH G
SRl J|2FHI(3NAr D) (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
201 LB-2AH| 3,360 4,032 AB72
01 AtR2telt] 3,360 4,082 ABT2
O AMZIE AREX 2|
3,360,000& 3,360
202 O4H| 2,520 3,456 A936
01 =LHOdHI 2,520 3,4% 936
O Jl& SUobl 2,520,000& 2,520
J123HI(HUHXIXE) 8,184 15,140 AB,956
201 Ler23H| 4,224 6,740 2,516
01 AtR2elt] 4,224 6,740 22,516
R EPGER=EES =R
4,224,000 4,224
202 0idl 3,960 8,400 A4,440
01 =LHO4 b 3,960 8,400 A4,440
O J12 S| 3,960,000& 3,960
JI23dI(0Ig8Xg) 9,240 10,368 AN1,128
201 B2 AY| 3,840 4,608 AT68
01 Al222lH| 3,840 4,608 AT68
O Jlgsig gexs 22|
3,840,000& 3,840
202 0idl 5,400 5,760 A360
01 =LHO4b] 5,400 5,760 A360
O Il =HHYI 5,400,000& 5,400
HF &S (ZH A D) 270,284 0 270,284
PSP 270,284 0 270,284
ALY &bt 2,284 0 2,284
311 XA S0 Atatst 84 0 84
03 SLYEHIXUZO0| Atk 84 0 84
O HOtE THEAAIE SLEFXLZ 0l
At AtE 1,000 43| 84
601 Xt =2 S4HE 2,200 2,200
03 SLHEXNLIAS&E 2,200 2,200
O H0tE THEHEAIE SLERXNLZ &
= && 550,000 43| 2,200
=&Hlgteg 268,000 0 268,000
802 BretaJ|Et 268,000 268,000
01 =E2xZ3eteza 268,000 268,000
O 201820202 L&A FHISG AIE 34l 2
&ton g Okt 268,000,000& 268,000




